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1290 £RHT 6 2 4 5 6 5 4 4 7 5
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1310 RJLHT 2 0 2 2 0 3 1 2 2 0
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2020 %= E7aHET 7 8 11 8 11 14 10 10 7 8
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1120 $21E JTHT 5 2 4 1 1 3 3 0 4 3
1130 +4:HT 2 1 1 0 2 0 1 0 1 4
1140 FkJRHET 0 1 0 0 0 1 0 2 0 0
1150 F/RET—T B 3 5 4 8 5 2 6 3 10 10
1160 F/RETZT B 6 7 6 10 6 6 6 5 11 7
1170 ;& 7KHET 6 1 6 0 4 3 2 4 5 7
1180 EE&FLHET 8 9 2 4 7 4 6 7 9 10
1190 1 F AHT 2 5 5 6 3 6 8 6 4 11
1200 XFHEI—TH 2 3 4 2 3 3 7 5 4 5
1210 XFHEIZTH 5 3 9 5 2 2 6 7 10 7
1220 FrHT 0 2 1 7 4 5 4 4 3 1
1230 %KHET 9 4 7 5 2 7 7 2 3 12
1240 B EHT 3 5 1 4 4 0 1 4 2 4
1250 fEEIRT 2 6 2 4 4 4 1 4 4 2
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TEETA (KXF)a—F {TEHET4 (KF) 4 60 61 62 63 64 65 66 67 68 69
1260 B & 3 0 4 2 4 1 2 0 0 2
1270 EEHT 2 2 4 4 3 2 5 2 4 3
1280 FRAHET 2 3 2 5 7 4 6 8 3 4
1290 £RHT 4 7 5 6 6 1 7 4 2 5
1300 & ZEHRT 3 0 2 4 2 1 3 2 6 2
1310 RJLHT 5 3 1 5 4 0 1 2 2 0
9999 XH X ET 210 193 203 204 222 183 220 190 235 258
1510 B4 BT 19 33 13 20 21 23 18 14 30 24
1520 }EHI T HET 19 15 20 22 25 22 22 24 35 25
1530 HEHITHT 14 12 11 11 13 8 13 7 11 11
1540 K{ZFHT 15 26 12 16 21 24 19 21 20 19
9999 HEMMRE X ET 67 86 56 69 80 77 72 66 96 79
2010 £ ERAT 3 1 6 6 2 4 4 4 5 5
2020 % &7l 10 5 6 4 8 7 7 8 6 5
2030 ;AT 1 3 4 1 1 0 0 0 1 3
2040 JMET—TH 6 5 6 6 2 4 3 8 9 7
2050 ;ET=T H 2 6 3 8 5 4 9 5 10 7
2060 ¥5HH 2 2 2 2 2 3 1 1 2 2
2070 +RET—TH 11 4 5 9 5 6 8 8 9 12
2080 +ETZTH 4 3 9 10 5 5 7 4 6 9
2090 AT 46 48 63 58 52 65 66 63 55 87
2100 dr 4L HT 8 4 3 10 11 8 9 6 3 9
2110 }EWETET—T B 8 5 5 6 8 7 12 10 11 4
2120 {ENNEBT =T B 12 12 7 12 12 10 7 9 13 7
9999 E B XET 113 98 119 132 113 123 133 126 130 157
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2540 Fi5HET 11 15 13 8 12 17 21 23 9 24
2550 ;HET 7 8 5 13 7 6 7 10 8 3
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2570 KEHT 2 5 0 1 3 1 5 4 3 6
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3010 K#THT 29 14 22 18 31 26 32 40 32 35
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3040 B LHET 4 4 2 9 3 5 7 7 2 5
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3080 H AT 8 9 4 7 10 7 5 9 17 10
3090 HHEHT 7 5 11 3 7 5 11 8 14 1
3100 H R FEHET 12 9 16 16 18 16 16 11 15 10
3110 EHeALHET 21 9 11 15 10 14 11 17 18 17
9999 /\FiE& X &t 196 173 194 193 224 197 221 224 239 255
3510 2R LHT 7 2 4 5 4 7 7 6 10 8
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3560 = T ERAT 6 8 11 17 17 11 15 8 10 13
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3580 LI HET 15 18 14 17 21 20 12 14 25 18
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8150 IRAHTHFK L 2 2 2 9 6 8 7
9999 AKX 5T 52 70 50 68 69 66 70 78 101 80
9010 FTHTAKEH 22 26 15 21 19 15 17 23 20 29
9020 FTHTEE R 16 8 7 8 16 14 12 15 15 22
9030 FTHTH &£ H 31 33 31 35 40 41 27 36 33 39
9040 FTHTHEIH 43 38 36 35 41 40 41 43 35 39
9999 FTHXET 112 105 89 99 116 110 97 117 103 129

9110 SERT T HIE 10 9 19 12 13 15 15 24 18 20
9120 $EETH L 6 5 3 11 13 10 6 12 10 12
9130 $EHTH & 9 3 5 5 7 4 4 1 9 6
9140 SERT T4 11 22 13 18 15 7 13 26 15 22
9150 $EET L 55 11 12 10 16 15 15 18 15 18 26
9160 SEETERHT 19 13 21 21 21 14 21 32 19 22
9170 $RATNEA 23 23 23 25 29 17 23 29 24 29
9180 SEMETEE 23 23 22 19 26 13 33 16 16 20
9190 $ERTZ O 7 7 8 13 9 9 8 6 9 9
9200 5 HT FF 5 7 12 8 8 2 7 4 8 13 12
9210 SRET=EH 10 12 13 9 15 15 14 12 12 19
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TERETR (KF)a—F {THET 4 (KF) 4 60 61 62 63 64 65 66 67 68 69

9220 SEMETHH 12 13 18 20 15 12 15 19 16 20
9230 ST B M 22 18 18 19 22 32 28 25 17 34
9240 $RHTIEE 8 13 4 10 9 9 13 5 7 12
9250 FEETALHith 12 22 21 15 20 17 23 19 12 11
9999 R X &t 190 207 206 221 231 196 238 249 215 274
9310 E[FZHETANR 9 8 6 10 6 8 8 7 7 5
9320 EFHATIL 8 11 8 13 7 4 10 7 11 15
9330 H[SRT/INE 7 7 7 9 8 7 4 12 8 6
9340 H[5HETREY 11 9 14 17 21 19 10 13 20 17
9999 RFHXET 35 35 35 49 42 38 32 39 46 43
9410 RETT & 13 18 14 10 9 13 16 16 7 19
9420 RHETHHE 7 7 9 4 11 12 19 10 6 14
9430 RETEXR 2 4 7 2 7 8 7 2 5 8
9440 RETAEF 0 1 1 1 1 0 0 0 0 0
9450 RETHEIR 1 0 1 2 0 0 2 3 0 3
9460 RET{—_HE 0 1 2 2 2 2 1 2 0 0
9470 RETZER 1 0 0 0 3 0 0 1 0 0
9480 RETHER 2 0 1 0 2 2 3 1 3 2
9999 RIXXET 26 31 35 21 35 37 48 35 21 46

99999 H&EEt 1775 1702 1744 1875 1985 1903 2053 2049 2111 2311
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XH24. 7 9F RERBIREZD—ERIEIZKYSNEANEZEHT-AO
[H31.4.30R1E JATEET & (KF) Bl &R A O HEE (&)

TEETA (KXF)a—F {TEHET4 (KF) 4 70 71 72 73 74 75 76 77 78 79
1260 B & 3 0 0 3 2 3 0 2 2 0
1270 EEHT 4 4 3 4 3 1 1 2 2 0
1280 R4 HT 5 5 4 2 2 4 2 5 6 6
1290 £RHT 9 4 7 2 5 7 4 4 7 5
1300 & ZEHRT 7 8 3 2 4 4 2 4 6 1
1310 RJLHT 4 4 2 2 2 4 1 1 0 1
9999 XH X ET 270 215 197 135 160 202 169 166 171 154
1510 B4 BT 22 27 16 13 18 23 20 28 18 14
1520 HEHITET 28 30 24 16 24 22 26 18 16 16
1530 HEHNTHT 8 16 15 7 9 13 7 9 14 9
1540 K{23FHT 20 23 17 8 16 8 10 19 11 7
9999 HEMMRE X ET 78 96 72 44 67 66 63 74 59 46
2010 = S5 T 12 10 5 2 3 8 6 2 1 7
2020 % &7l 2 8 6 2 4 5 7 4 5 2
2030 ;AT 5 1 1 0 0 0 2 0 1 0
2040 ;ET—T B 11 8 8 3 8 3 4 6 3 1
2050 ;ET=T H 6 5 11 6 6 7 6 5 4 3
2060 ¥5HH 4 2 2 1 1 0 4 2 2 0
2070 +RET—TH 8 4 10 3 4 7 6 9 9 3
2080 +ETZTH 9 8 9 4 6 10 2 4 4 6
2090 THiAT 63 72 52 29 44 66 40 43 36 49
2100 dr 4L HT 12 4 8 2 2 4 3 5 4 6
2110 }EWETET—T B 13 6 8 5 6 4 9 5 7 11
2120 HEMIETETZT B 6 13 13 2 6 9 5 11 3 2
9999 E B XET 151 141 133 59 90 123 94 96 79 90
2510 #AUEET 77 69 54 32 44 52 45 59 34 39
2520 sk EEmT 45 40 26 20 17 18 25 11 11 15
2530 E/NRHT 10 17 5 6 5 4 4 9 8 9
2540 Fi5HET 16 23 23 8 19 11 16 17 18 12
2550 ;HET 10 8 4 8 4 11 5 4 6 5
2560 = ST 39 32 38 20 17 24 21 29 23 22
2570 XK ST 8 5 5 2 1 2 1 3 4 2
9999 MMEXET 205 194 155 96 107 122 117 132 104 104
3010 K#THT 40 31 29 20 33 18 22 34 29 30
3020 L iIHT 28 38 35 13 17 19 12 24 13 16
3030 - EFHT 27 28 17 7 20 14 18 16 13 13
3040 B LHET 3 4 5 3 4 4 7 4 5 3
3050 A HRET 69 57 58 20 39 38 44 45 37 38
3060 B THET 16 16 16 9 18 22 19 17 22 18
3070 HEAEAT 12 16 10 8 18 10 12 11 16 15
3080 HhHT 21 8 6 6 4 9 10 8 7 6
3090 HHEHT 9 7 7 6 7 10 13 7 8 5
3100 H R FEHET 12 8 8 9 10 5 6 8 8 5
3110 HedLHET 22 19 13 6 13 13 16 11 13 6
9999 /\FiE& X &t 259 232 204 107 183 162 179 185 171 155
3510 2R LHT 12 7 5 0 2 8 3 3 7 5
3520 & R T 19 17 12 12 9 12 8 14 3 6
3530 &R THT 41 23 21 20 20 22 22 18 18 9
3540 &= B KHT 20 15 13 13 2 10 14 13 13 7
3550 AEFHT 38 35 18 19 14 23 22 13 19 12
3560 = T B HET 13 10 11 8 4 6 8 9 9 5
3570 = T FaMT 35 37 24 22 22 26 25 17 20 17
3580 FLIFTHT 30 16 18 9 15 11 11 12 13 16

3590 JEEHT 1 3 1 0 0 0 0 0 1 0
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